Tema: YnpouweHue
6YK8EeHHbIX 8bIPaXeHUU.

MaTemaTtmka 5 knacc




Llenb:
yyalunecs OOImKHbl YMETb

*NNPMBOAUTL NMOOOOHbIE cnaraemble B
OYKBEHHbIX BbIPAXKEHUSIX;

*pacKkpbIBaTb CKOOKU, NCNOSb3YS
pacnpenennTenbHOE CBOUCTBO;

‘PellaTb YpaBHEHUA.



1.YNpoCTUTB:

3(a+12)
4(B-7)
3(c-16)
9(x+2)

DY o WS

aVYa




3a+14a

5B+18B

217y-9y

46X+54 X
127y+13y




3. YNpPOCTUTL:

6x+14+15x
Sy+19+12y
16+/7x+24
37/a+15+13a
19x+8+14x
4y+/7+8y+29
13x+15+28x-4x+3




4.PelunTb ypaBHEHUE:
5y-19=11
OTBeT: y=6
160-2x=100
OTBeT: Xx=30
X:12=10
OTBeT: Xx=120




1 BapuaHT
1.¥Ynpoctutb

13(x+2)
6(y-12)
8(2c+5)
12(a+7)+26
9(B+3)+34
18(2a+5)-27a
45(38+10)-383

2. CpaBHUTb 3Ha4YeHuUA
BbIpaXXeHUsA

(27+91)-3 n 27 -3+42 -3

3. Pewuntb ypaBHeHMeE:
2x-15=13
130- 4x=70
X:21=10

[erll

2 BapuaHT
1.¥Ynpoctutb

12(a+3)
7(y-10)
6(3x+8)
14(x+8)+13
5(a+6)+48a
16(3y+2)-28y
50(4x+3)-108

2. CpaBHUTb 3Ha4YeHuUA
BbIpaXXeHUs

52 -4+27 -4 u (55+27)-4

3. PewunTb ypaBHeHuUe:
7y- 25=45
49- 3x=34
X:17=9




